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(l) All questions are compulsory.

(2) Figures to the right indicate full marks.

(3 ) Draw neat diagrarns wherever necessaly.
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N.B.:

l. Answer any two ofthe following
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5. (a) State whether the following statements are True or False.(Any Four) I
(i) cost theory of international trade is a static theory,

(i a aoirntryls demand for irnports is intense then the gain from trade
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iii)
will increase.

Devaluation of currency and exchange rate depreciation are one and

the same.
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Ap6wer any two ofthe following

f6i Outline the measures to correct balance of payment

(b) Discuss India's BOP position since 1991.

(c) Explain TRMs and GATs under WTO.

3. Answer any two ofthe following

Jsf Explain in detail about dealers arrd in foreign exchange

(b) Examine the rnerits of flexible rate systerr?

(c) Discuss hedging and speculati exchange market.

,1g)6it.uss factors

L"ttl Criticaily evaluate

(c) Discuss RBI's
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(iv) Balance of trade records all economic transactions belween residents

of a country and rest of the world'

(v) Spot exchange rate is detennined by raarket forces'

(vi)Speculationmayhavestabilisinganddestablisingeffects'

(vii) India follows flexible exchange raLe system'

(viii) Under free float, centralbank controis exchange rate'

7
(b) Choose the correct answers and rewrite

(i) According to tnodern theorY'

international trade'

a) Labour

c) MoneY

(ii) An overpopulated country will have

because of increased dernand for

a) favourable

c) Both a andb

(iii) Tenns of trade are

a) cost ratio

none o f these

ce ratios of exPorts and irnPorts

c) profit ratio $OlAll of the above

(iv) Curtent account inqSl{es

a) unilateral receifr b) unilateralpaytlenl

c) Statistica]@lrePancY d) a & b

(v) External g6ffi*ing is treated as 

-.- 

in BOP'

a;ec@Y"aativeflow b)Autonornous tlorv

c) Ia${siUle flow d) All of these

(ui) $]ch of the foltrowing is *ot a cause of deficit in balance of payme*t?

,.t+i) Increase in imporls b) fall in exports

,,i1,= c) globalisation d) capital inflows
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b)Factor

d) None of
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(vii)HedgerSenterforwardexchangemarketto-
a) cover risk b) earnprolit

c) speculate d) none of these

(viii) Indian foreign exchange market is made up of 

----a) one tier b) two tier

c) three tier d) four tier.

(ix) Under flexible exchange rate system, exchange rate ii
by-.---
a) central bank h')

c) government d)

(x) In rnost of the countries

marketto minimise fluctuation in exchange

a) RBI b) Central

c) CornrnercialEank d) rMF

(*i) PPP theory considers that all prices rise or fall

a) Continiously

c)up and down

(xii) LERMS Stands for

formly

a) Liberalised Management Systen'l

b) LaterExchange System

Rate Management System
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intervene in exchange

c) Liberalised

d) all of
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